4 HEAORFEESIE R (BFRBRICEMT5E)

] 105
- _ EZEVN
N | Bt ;E%%H%;T% (BEEE .4 16 &E)
" (K%&-&%) - p— - -
#E#%B e E EEZE | BEHER R EXRE | BEHR L =
=3 = 2 EE =3 = 2| EE DRR "
) EANERDI=65
1| 22 | £ 0 ha ha | % 0 ha ha o|EEHY
== e == 7 = eh
e Rt Fp S+ ERith Fp 3+ EXR
2| BR maEs | 0" helmaEz | O™ he O iz Yy
3| BB EHETE 0.6 ha ha |EEHh B3 0.6 ha ha 1
— EIE+E e+ B
4| W= Hh B33 0.4 ha ha Hh B3 3 0.4 ha ha 2
o] = ] =
5| e gﬂﬁﬁﬂ 07 ha ha ;___\'Wﬁ“" 0.7 ha ha 3
) L e B I
6| RBE M- 0.1 ha ha |#5%- L% 0.1 ha ha 4
- S5+ -S4+
7| RE FHhEr R 0.8 ha ha |EHhEFE 0.8 ha ha 5
=) e == 7 =
s en Bty B Er S+
8| = TalE 0.2 ha ha TEAE 0.2 ha ha 6
=) e == 7 =
snen BEE R B EpIR
9] = TR 0.2 ha ha B 0.2 ha ha 7
) BhHR L
10 RBE (+iEERE 0.9 ha ha | (+iE %= 0.9 ha ha 8
=) =)
=5 7 = = 7
o B IR ke
11| = HRE= 0.1 ha ha MR E 0.1 ha ha 9
=5 7 = = 7
- Bty EhEr S+
12| #RB= Tl 0.1 ha ha T e 0.1 ha ha 10
13| RE FHhEr R 0.3 ha ha |EHhEFE 0.3 ha ha 11
=5 7 = = 7
o ok ks
14 At = }jﬁg&;?i 01 ha ha fjﬁﬁﬁﬁ’i 01 ha ha 12
== KA~ == s
snen BEE R B EpIR
15| 3E iy 14 ha ha | ¥ae i 1.4 ha ha 13
== KA~ == 7 =
snen ZthEr e+ T IS
16| o= HeRE 0.5 ha ha HEE 0.5 ha ha 14
17| RE TREFEE 0 ha ha |FRZ$E1E 0.2 ha ha 15
18| RE Eh R 0.5 ha ha |EHh B 0.5 ha ha 16
== KA~ == 7 =
snen BEE R B EpIR
19| 3E i 2.7 ha ha | ¥ ae i 2.7 ha ha 17
20| BE EHh R 14 ha ha |EHEFE 1.4 ha ha 18
21| RE FEHh IR 1.9 ha ha |EEHh 3 1.9 ha ha 19
2| FiEE g"”h 16 ha ha %VHE" 16 ha ha 20




10&E%

N | Bt ;:%Ea?#%%ﬁ " (BEEE: S 16 HE)
BEFE | gy | FEZE BEEE mam | FRAZE | BREEE | L.
% EE % EE DFER
23| B gﬂ,g*gﬂﬁ 2.9 ha ha Eﬁgﬁi& 45 ha ha 21
24| B2 %’%ﬁ’i 1.1 ha ha %’%ﬁi 1.1 ha ha 22
25| B %E’gé* 16 ha ha %Eﬁg’ 16 ha ha 23
26| FIFAE %;’,‘Eﬁfﬁ 3.2 ha ha %fﬁgﬁ?’ 42 ha ha 24
21| RE EEr S 3.1 ha ha |EHhEFE 3.1 ha ha 25
28| B2 EEr S 2.7 ha ha | EF 2.7 ha ha 26
29| BRE %;%ﬁ';'_: 1.7 ha ha %;’%ﬁ’i 1.7 ha ha 27
0| BB = 0.6 ha ha |B& & 0.6 ha ha 28
31| @B %%g' 14 ha ha %zggr 1.4 ha ha 29
32| RBE EEr S 1.1 ha ha | EF 1.1 ha ha 30
33| RE EET S 0 ha ha |EihBF 0.8 ha ha 31
34| FAHE Frx 0.9 ha ha B2 0.4 ha ha 32
35| BB EMET S 2.6 ha ha |EthEF 2.6 ha ha 33
36| BB EMET S 1.3 ha ha |EihBF 13 ha ha 34
37| RE EET S 0.6 ha ha |EthEF 0.6 ha ha 35
38| RE TREE 1.6 ha ha |FEZEHE{F | 253 ha ha 36
39| BB EET S 19 ha ha |SEHhEFH 1.9 ha ha 37
40| RVE TREE 7.8 ha ha |FEZEHE{F | 209 ha ha 38
41| B %:‘,‘Eﬁ%“ 3.7 ha ha %}E¥ﬁ+ 3.7 ha ha 39
42| RE EET S 2.9 ha ha |EHh B3 2.9 ha ha 40
43| RE TET S 1 ha ha |EHEF 1 ha ha 41
44| BE %:‘,‘E%?“ 1 ha ha %}EE’§+ 1 ha ha 42
45| BE %E‘,‘Eg“ 1 ha ha %§E§+ 1 ha ha 43




10&E%

EIZEVN
N | B %i%é&#%%ﬁ% (BEBEE 470 16 HE)
- (KR&-8#H) - — - —
BE/EE T 1EE %5 | BRE®E B FEZE | BEtRE .
5 = 2 EE % = 2| EE DERT "
— TRiE+EEth e+
46| = B3 1.7 ha ha B3 1.7 ha ha 44
47| BE e 0.9 ha ha B 0.9 ha ha 45
== 7 =5 == 7 ==
£x) g8 Eé%ﬂ%’%"’ E%—‘fmgl’ﬂé"'
48| = HRE 5.8 ha ha HEREE 5.8 ha ha 46
WmE+E WmE+E
49| BRE hEFE+ 24 ha ha [P35+ 2.4 ha ha 47
MEEREF MEER B R
50| RE FEh R 22 ha ha |EHh B3 2.2 ha ha 48
51| BB [y 3 ha ha |ERE 3 ha ha 49
== 7 2 == 7 =
snem R F S+ Eaith Fp 3+
52 A= ﬁEEQ% 2.5 ha ha }]‘EE&% 2.5 ha ha 50
53| RE EhEFE 2.3 ha ha |EHhEFE 2.3 ha ha 51
s TEEY ITEEY
=}‘]§ = Syl -0-0-K .
54 A= (%)"'*I‘ﬁ{’ﬁ 2.9 ha ha (‘,‘R‘)"’m{’ﬁ 2.9 ha ha 52
== 7 2 == 7 =
snem Bty = EF o+
55| ERE ey 1.3 ha ha |z 1.3 ha ha 53
56| ERE [ 0.1 ha ha |B& 2 0.1 ha ha 54
57| PRE Eih R 0.4 ha ha |EHhEPE 0.4 ha ha 55
58| ERE Eh R 0.8 ha ha |EHhEFE 0.8 ha ha 56
== A (=4 K4
e R F R+ Eaith TP+
59| = R 0.6 ha ha IR 5 0.6 ha ha 57
== A (=4 7,
e BRI F R+ Eaith Ty I+
60| ERE preben 2.9 ha ha |6 p ez 2.9 ha ha 58
i BEHhEFE B EFE
61| }|E + e ER P 1.3 ha ha |+ % 55 1.3 ha ha 59
® -3
62| PBE Eh R 24 ha ha |EHh B 2.4 ha ha 60
63| FEE MEERET R 0.5 ha ha |EE% B3 0.5 ha ha 61
s TEEY ITEEY
=3 g8 eSS =
64| &= ) 3.6 ha ha ) 3.6 ha ha 62
65| ERE Eh R 0.5 ha ha |EHh B 0.5 ha ha 63
== 7 = == 7
— iR+ R U B 5+
66| ERE e 2.2 ha ha |z 2.2 ha ha 64
67| BE EHh R 14 ha ha |EHEFE 14 ha ha 65
68| EBE =3 2.1 ha ha |B& 2 2.1 ha ha 66




10&E%

EZEVN
g 35 il LA 3
#E#%B e EE ¥R | BREHER R EXZEE | BEHR L =
=3 = 2 EE =3 = 2| EE DERT "
== 7 = == 7
69| BE ;g%i* 29 ha ha %g&f’ 2.9 ha ha 67
a. =N =<~
70| RE FEh R 0.3 ha ha |EHh B3 0.3 ha ha 68
I TRE+HEER FRiE+HIEER
=<
11| RE e 0.2 ha ha e 0.2 ha ha 69
72| FIERE TE+E | 55 ha [RIEHER | o0 ha 70
13| RE FEh R 42 ha ha |EHh B3 42 ha ha 71
74| RBE EihEFE 2.3 ha ha |EEHh B3 2.3 ha ha 72
75| }|E EihEFE 0.4 ha ha |EEHh B3 0.4 ha ha 73
i - 2 i Fp R+
76| RE MEERE= 0.3 ha ha | E = 0.3 ha ha 74
(+Bt (+B
77| RE e 5 ha ha |FB1E 5 ha ha 75
78| }|E MRE= 1.9 ha ha [[EXE= 1.9 ha ha 76
79| EB#t R 0.3 ha ha |4 0.3 ha ha 77
80| FIRAE fR1E 3.1 ha ha |FE{E 3.1 ha ha 78




